SHADEe     (by Joe Erdeky, erdeky@inbox.com)

The Program graphs A SYSTEM OF LINEAR INEQUALITIES in two variables. 

Inequalities can be in the form, Ax + By <= C, x <= C, x >= C, Ax + By >= C, or y >= 0.
You may enter as many inequalities as desired as in LINEAR PROGAMMING.
The program shades the non-solution side of the lines.   

Before using SHADE, the WINDOW must be set to show the lines.
Hint: For the equation Ax + By = C, the x-intercept is x = C/A and the y-intercept = C/B

If shading only one line, program LINE will set the WINDOW for you.

For more than one line, use the two lines with the most extreme intercepts then use program TWOLINES to set the WINDOW.    
Because of a disability, ALS, I did not update the TI 84 screens below.

However, the TI 84 C screens will be similar.
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Notes: Before using SHADE, [WINDOW] must be set properly 6 sets the WINDOW for this example.
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For two inequalities, run





Program LINE creates a good window for a single line 11x + 2y = 30
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Graphs two lines and finds the intersection.
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